
 

 

Answer on Question #42596 – Physics - Mechanics | Kinematics | Dynamics 
 
if a mass of a planet is 10% less than that of earth and the radius 20% greater than 
that of earth the acceleration due to gravity on the planet will be? 
 
Solution: 
ge − acceleration due to gravity of the Earth; 
gp − acceleration due to gravity of the planet; 

Mp = 0.9Me − mass of the planet; 

Rp = 1.2Re − radius of the planet; 

Formula for the acceleration bue to gravity (gravitation equation): 
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Answer: acceleration due to gravity on the planet will be 6.13
m

s2. 
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